	Theory of Automata

Assignment No.2 Solution 


	Total Marks: 20                                                                                               Due Date: ---------------

	Objectives

Objective of this assignment is to make students able to understand the following concepts,

· FA’s

· TG’s

· GTG’s
· Union, Concatenation and closure of FAs 

	Question No.1 

Consider the Language L of Strings, defined over Σ = {a, b}, staring and ending with same letter. The RE of language is: (a+b) +a (a + b)*a + b (a + b)*b.  
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	Question No.2
Draw the TG for the language L of strings, defined over Σ = {a, b}, a’s occur only in triple clumps and that ends in two or more a’s 

. The language L may be expressed by RE  (aaa)*b (b*+(aaa(aaa)*b)*)b or (aaa)*b(b*+((aaa)+b)*)b. 
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Question No.3 
Draw the TG for the language L of strings, defined over Σ = {a, b}, beginning and ending in same letters. The language L may be expressed by RE a(a + b)*a + b(a + b)*b.
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	Question No.4
Consider the language L of strings, defined over Σ = {a,b}, accepting all strings without double “b”. Draw the GTG for the above stated language. 
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	Question No.5
Let r1 = (a + b)*a and the corresponding FA1 be
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And Let r2 = (a+b)* (bb) (a+b)*.  and the corresponding FA2 be
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Find out the FA corresponding to r1+ r2

OLD STATES

NEW STATES AFTER READING

a

b

-z1=(x1,y1)

(x3,y1)=z2

(x2,y2)=z3

+z2=(x3,y1)

(x3,y1)=z2

(x2,y2)=z3

Z3=(x2,y2)

(x3,y1)=z2

(x2,y3)=z4

+z4=(x2,y3)

(x3,y3)=z5

(x2,y3)=z4

+z5=(x3,y3)

(x3,y3)=z5

(x2,y2)=z4

Diagram 
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